(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Report Forms under Milk Marketing Order Programs (from Milk Handlers and Milk Marketing Cooperatives)

ОМВ NO. 0581-0032

DATE PREPARED

| IDENTIFI | | ANNUAL BURDEN | | | | | | | | |
|--|---|---|-----------------------|---------------------------|---|--------------------------|--------------------------------|------------------------------|--------------------------------|--|
| | | | | REPORTS | | | | | RECORDS | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (1) | | (0) | (5) | RESPONDENT | (5) | (0) | 4.0 | <i>a</i> | KEEPER | 40 |
| (A) Parts 1000, Section .27 & .27(a) | (B) This section deals with general recordkeeping requirements relative to all Federal Milk Orders. Part 1000 is incorporated by reference into each of the 7 CFR Parts 1001-1199. | (C) | (D) | (E) | (F) 0.00 | (G) | 0.00 | 740 | 0.370 | 273.80 |
| | Report of Receipts and Utilization (includes supplements) | Form 1 | 520 | 12.0000 | 6,240.00 | 1.5000 | 9,360.00 | | | 0.00 |
| Parts 1001-1199, Section .32 | Report for Partially Regulated Distributing Plants | None | 69 | 12.0000 | 828.00 | 0.5000 | 414.00 | | | 0.00 |
| Parts 1001-1199, Section .31 | Producer Handler Report of Receipts and Utilization | None | 110 | 12.0000 | 1,320.00 | 0.5000 | 660.00 | | | 0.00 |
| Parts 1001-1199, Section .31 | Handler's Report of Producer Payroll | None | 375 | 12.0000 | 4,500.00 | 1.5000 | 6,750.00 | | | 0.00 |
| Parts 1001-1199, Section .31 | Report of Payments to Cooperative Associations | CPR-2 | 90 | 12.0000 | 1,080.00 | 1.0000 | 1,080.00 | | | 0.00 |
| Parts 1001-1199, Sections .31 & .32 | Notification of Producer Change(s) | MA 201 | 325 | 6.0000 | 1,950.00 | 0.5000 | 975.00 | | | 0.00 |
| | SUBTOTAL | | | | 15,918.00 | | 19,239 | 740.00 | | 273.80 |
| | TOTAL OF ALL PAGES | | | | 20,089.00 | | 22,040.75 | 740.00 | | 273.80 |
| TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c | | | | | 20,829.00 | | 22,314.55 | | | |

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

Report Forms under Milk Marketing Order Programs (from Milk Handlers and Milk Marketing Cooperatives)

TITLE OF INFORMATION COLLECTION DOCUMENT

0581-0032

OMB NO.

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

DATE PREPARED

| IDENTIFIC | CATION OF REPORTING OR RECORDKEEPING REQUIREMENT | | ANNUAL BURDEN | | | | | | | |
|---------------------------------|---|---|-----------------------|---------------------------|---|--------------------------|--------------------------------|------------------------------|--------------------------------|--|
| | | | | REPORTS | | | | | RECORDS | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| | | | | RESPONDENT | | | | | KEEPER | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) |
| | Designation of Persons Authorized to Sign Handler Reports | None | 115 | 1.0000 | 115.00 | 0.5000 | 57.50 | | | 0.00 |
| | Annual Report of Cooperative Milk Marketing Association | DA-24 | 117 | 1.0000 | 117.00 | 0.2500 | 29.25 | | | 0.00 |
| | Application for Qualification of Cooperative Milk Marketing Association | DA-25 | 5 | 1.0000 | 5.00 | 2.0000 | 10.00 | | | 0.00 |
| | Handler Report of Expected Receipts and Expected Class I Needs | MA-300 | 100 | 4.0000 | 400.00 | 0.5000 | 200.00 | | | 0.00 |
| Part 1001-1199, Section .7 | Estimated Deliveries by Section 9(c) Cooperatives and/or Section 7(c) Supply Plants to Section 7(a) Class I Distributing Plants | MA-301 | 100 | 4.0000 | 400.00 | 0.5000 | 200.00 | | | 0.00 |
| Section 7 | Summary of Estimated Utilization of Producer Receipts and Listing of Transfers and Diversions to 7(a) Plants For the Period _ | MA-302 | 100 | 4.0000 | 400.00 | 0.5000 | 200.00 | | | 0.00 |
| Part 1001-1199, Section .13 | Producer Weight Record | None | 100 | 4.0000 | 400.00 | 0.2500 | 100.00 | | | 0.00 |
| Part 1001, Sections .30, .32 | Brokerage Report | МА-В | 12 | 12.0000 | 144.00 | 0.2500 | 36.00 | | | 0.00 |
| | SUBTOTAL | | | | 1,981.00 | | 832.75 | 0.00 | | 0.00 |

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Report Forms under Milk Marketing Order Programs (from Milk Handlers and Milk Marketing Cooperatives)

ОМВ NO. 0581-0032

DATE PREPARED

| IDENTIFIC | | ANNUAL BURDEN | | | | | | | | |
|---|--|---|-----------------------|---|---|--------------------------|--------------------------------|------------------------------|--|--|
| | | | REPORTS RECORDS | | | | | | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) |
| Part 1001, Sections .32&.73 | Report of Billings to and/or Payments from Pool Handlers* | CPR-4 | 12 | 12.0000 | 144.00 | 1.0000 | 144.00 | | | 0.00 |
| | Monthly Report of Payments Received by Cooperative Assocation from Handlers | None | 45 | 12.0000 | 540.00 | 1.0000 | 540.00 | | | 0.00 |
| | Calculation of Transportation Credit (Producer Milk) | None | 30 | 6.0000 | 180.00 | 1.5000 | 270.00 | | | 0.00 |
| Parts 1005, 1007, Section .30 | Calculation of Transportation Credit (Other Source Milk) | None | 25 | 6.0000 | 150.00 | 1.5000 | 225.00 | | | 0.00 |
| | Membership Report by Order 30 Qualified Cooperative Association | None | 2 | 1.0000 | 2.00 | 0.5000 | 1.00 | | | 0.00 |
| Parts 1001-1199, Section .32 | Record of Dumped Milk and Accidental Loss | None | 50 | 8.0000 | 400.00 | 0.5000 | 200.00 | | | 0.00 |
| Parts 1006, 1007, Sections .32, .71, .72, .81, .82, .85, .86 | Payments Made to a Cooperative Association | None | 2 | 1.0000 | 2.00 | 0.5000 | 1.00 | | | 0.00 |
| Parts 1124-1131, Section .32 | Partially Regulated Distributing Plant Report of Route Dispositions into Federal Milk Marketing Orders | None | 32 | 4.0000 | 128.00 | 0.5000 | 64.00 | | | 0.00 |
| | SUBTOTAL | | | | 1,546.00 | | 1,445.00 | 0.00 | | 0.00 |

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Report Forms under Milk Marketing Order Programs (from Milk Handlers and Milk Marketing Cooperatives)

ОМВ NO. 0581-0032

DATE PREPARED

| IDENTIFIC | CATION OF REPORTING OR RECORDKEEPING REQUIREMENT | | ANNUAL BURDEN | | | | | | | |
|------------------------------------|--|---|-----------------------|--------------------------------|---|--------------------------|--------------------------------|------------------------------|--|--|
| | | | REPORTS RECORDS | | | | | | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) |
| | Information Report for Designation as Producer - Handler | PH-1 | 4 | 1.0000 | 4.00 | 1.0000 | 4.00 | | | 0.00 |
| Part 1001-1199 Section .13 | Expected Producer Milk and Bulk Movements | H-11 | 10 | 2.0000 | 20.00 | 1.0000 | 20.00 | | | 0.00 |
| Part 1001-1199, Section .13 | Expected 1000.9 (c) Movements to Pool Plants | H-12 | 5 | 2.0000 | 10.00 | 1.0000 | 10.00 | | | 0.00 |
| Part 1001-1199, Section .13 | Expected Bulk Milk Receipts and Usage | H-13 | 5 | 2.0000 | 10.00 | 1.0000 | 10.00 | | | 0.00 |
| Part 1124-1131, Section .30 | Report of Receipts and Utilization (includes schedules 1, 2 and 3) | HR-EZ | 30 | 12.0000 | 360.00 | 1.0000 | 360.00 | | | 0.00 |
| Part 1124, 1131, 1135, Section .31 | Producer Payroll Report | H-2 | 20 | 12.0000 | 240.00 | 0.5000 | 120.00 | | | 0.00 |
| | | | | | 0.00 | | 0.00 | | | 0.00 |
| | | | | | 0.00 | | 0.00 | | | 0.00 |
| | SUBTOTAL | | | | 644.00 | | 524.00 | 0.00 | | 0.00 |